OPTIONAL SPARES AND TIRES

S-402KS GROUP 2 - Rear wheels + sponge tyres glued (x2)

S-403K  GROUP 2 - Front HARD tires (x2)

S-404KS GROUP 2 - SOFT 22 shore rear tyres (x2)

S-404KG GROUP 2 - NEW G25 RACING rear tyres (x2)

S-404KSG GROUP 2 - SUPERSOFT 15 shore rear tyres (x2)

S-404K-R GROUP 2 - Rear “RACE” tires 35 shore (x2)

S-402R2F GROUP 2 - Front “racing type” light wheels + M3 screws (x2)
S-402R2 GROUP 2 - Rear “racing type” light wheels + M3 screws (x2)
S-406S  Unpainted wheel inserts BBS type (x4)

S-411KS  CAPRI - aluminum front axle holders - “STRAIGHT AXLE” (x2)
S-412KC  CAPRI - aluminum rear axle holders - “CAMBER” (x2)
S-415A  MINICARS - Brass “nut” H1.0mm - ZERO FLOATING (x4)
S-415B  MINICARS - Brass “nut” H2.0mm - (x4)

S-415C  MINICARS - Brass “nut” H2.5mm - (x4)

S-415D  MINICARS - Brass “nut” H3.0mm - (x4)

S-419A  Ergal AW spur gear 33T 0 12.4 + M3 screw (x1)

S-420S AW Nylon pinion 11T & 6.5mm (x2)

S-421A  Screws M2x6 Sink Head for Allen Key 1.3mm (x10)

S-421C  Screws M2x4 Sink Head for Allen Key 1.3mm (x10)

RS213B  Brass body screws for 1.5mm A K. (x4)

S-013R  Rubber covers for body post - standard H1.0mm (x4)
S-013RA  Rubber covers for body post - HO.5mm (x4)

S-013RB  Rubber covers for body post - H1.5mm (x4)

S-013RC  Rubber covers for body post - H2.0mm (x4)

FULL WHITE KITS - KIT BIANCHI COMPLETI

BRM147 Capri full white kit - preassembled aluminum chassis
S-401C  Capri - full white body kit

S-423K  Capri - rubber windscreen wipers (x2 pairs)

S-425C  Capri - set front and rear lights

S-426A  Capri - Rubber mirrors set

Slot Cars

~BRM

Via Bovasostegno, 73

45021 Badia Polesine (RO) - Italy
info@brmmodelcars.com
www.brmmodelcars.com

S/ot Cars

Ford Capri

RS
2000

Team Europa Mobel Bilstein #9
6H Nurburgring 1973
Drivers: K. Fritzinger (D) / H. Heyer (D)

BRM147

Ford Capri - Full White Kit
Preassembled chassis
Front Camber system

Team Kent Frami Racing #4
24H Spa 1972
Drivers: J.C. Franck (B) / K. Fritzinger (D)




S-402KF S-417

Front wheels with M3 screws (x2) Electric short-can S-402KR
S-403VW “BRM BLUE” motor Rear wheels with M3 screws (x2)
Front HARD tyres (x2) S-411K Brass-::"r?ut" 19.000 rpm
Aluminum front axle holders h1.5mm - STOCK
~ $-026SS “separate axle - CAMBER” (x2) .
Guide white blade (x4)
with screws
S-412K
Aluminum rear axle
holders “stock
NO CAMBER” (x2)
RS210SP
Guide springs
o S-416KR
p— @ Rear steel axle
58 mm (x2)
S-419
Nylon AW spur gear
RS210S 33T @ 12.4 mm
Guide screw
+ M3 screw
S-416A -l = oy
Set front steel s Aluminum motor
separate axles (x2) holder + screws S-404K
20mm + photo-etch -
S-408C . S-407C . S-420 STANDARD
6., 2 2 Aluminum anodized ~ Aluminum anodized AW Nylon pinion rear tyres (x2)
(S BLACK BLACK 12T 0 6.8 mm

= chassis plate body plate




